fZEEeR (ES2—

—®D&R)

2024 &£ 12 A 9 8 (A)

2024 &£ 12 A 15 B (A)

B IE HINUT

HE A

HDCPERE:  (5) (%)
B LA
% ok % 3k * % %k
M DEBOEEDEE 1~ HOEOBGHOH®
e
B fsz BHES R 7Ab | 4y |GROSS| HDCP | NET
B B =% H 46 43 89| 20.4] 68.6 RE
B2 X F 48 45 93| 24.0/ 69.0 ®E
ML AR FE 46 45 91| 21.6] 69.4 kE
Mz IR Efliﬁ 317 36 73] 2.4 70.6 FRE
5GI |5z =18 40 45 85 14.4| 70.6 RE
66 LA #K= 46 44 90| 19.2) 70.8|RE
M [l XBA 52 50/ 102 31.2| 70.8|mE
8 HO KX 43 41 84| 13.2| 70.8 RE
oy Bl == 39 44 83 12.0) 71.0|RE
10 By <75 43 46 89 18.0| 71.0RE
N B A= 46 49 95 24.0/ 71.0
1261 |l XBE 45 50 95/ 24.0/ 71.0
136 |&F & 44 45 89/ 18.0] 71.0
1461 | 1=$ 40 43 83| 12.0/ 71.0
156 |[EH 47 53| 100 28.8| 71.2
1642 |REH J'I:T 44 44 88| 16.8| 71.2
17 | KA 1F 41 40 81| 9.6/ 71.4
18 |fEH AR 48 45 93] 21.6) 71.4
196 | £H# 3 48 45 93] 21.6) 71.4
2061 | RF SR 43 44 87 15.6| 71.4RE
214 |/8A M= 43 44 87/ 15.6] 71.4
260 KT HME 53 46 99 27.6 11.4
231y |YEF 47 46 93] 21.6) 71.4
261 =X B5F 51 48 99 27.6) 11.4
261 A% Ak 38 42 80, 8.4/ 71.6
2661 |3GH 1B 52 40 92| 20.4| 71.6
2161 =X B 41 39 80, 8.4/ 71.6
2861 Ak EBIE 46 46 92| 20.4| 71.6
296 AR RE 41 45 86| 14.4| 71.6
30z tHE RIA 44 42 86| 14.4] 71.6/mE
31z & Rz 41 51 92| 20.4| 71.6
ML (R HE 44 47 91 19.2] 71.8
33fs RS KA 48 43 91 19.2 71.8
3fr B A 46 45 91 19.2) 71.8
e | RAR E% 43 42 85 13.2 71.8
36fL Ay H— 52 51 103 31.2 71.8
37te | B 44 47 91/ 19.2 71.8
3L | £H XA 50 46 96 24.0 72.0
0 KH FEX 46 44 90 18.0 72.0
0fn |AM % 40 38 78 6.0 72.07H
1 KE B 38 40 78 6.0 72.0
TR £ 4446 90 18.0 72.0
4341 $EE 5 45 45 90 18.0 72.0
e B 39 45 84 12.0 712.0
4561 [lUAR BT 4 42 83| 10.8] 72.2
462 ZH Kﬁﬁ 4] 48 95| 22.8| 12.2
476 WA RF 42 4] 89 16.8| 72.2
4861 AIEF  )F 40 43 83| 10.8] 72.2
4961 [ - 46 49 95| 22.8| 12.2
P-1 JO9SowoadNI957




fZELER (ESZ—D8]

2024 % 12 B 9 B (B) ~ 2024 & 12 A 15 B (A)

B AE IRUT ITHHIR: 4 T/ —

HDCPERE: (%) 36.0 (%) 36.0

B LA

k ok %k k Xk Xk %k
1 DRAOOEOVE® 4 DOLBBBED®
B&:

iz BHES i 79b | 4y | GROSS| HDCP | NET
o0 |[FA&R 1EsA 45 43 88| 15.6| 72. 4|7/ E
51 B Ei 40 42 82 9.6 72.4
521 |&H 217 50 44 94| 21.6| 72.4
531 |k [B— 43 51 94| 21.6| 72.4
5461 FEH FNiE 46 48 94| 21.6| 72.4
5561 | F/FKR XX 41 41 82 9.6 72.4
5661 Il Eik 42 46 88/ 15.6/ 72.4
St B FRE 40 48 88 15.6/ 72.4
5841 |hlll EE 47 47 94| 21.6| 72.4
59 &F =— 41 41 82 9.6 72.4
604 5t R 46 47 93| 20.4| 72.6/E
61461 ’EO #— 53 46 99| 26.4) 72.6
6241 LU Z 54 51 105 32.4| 72.6
63 BH EZ 42 45 87 14.4) 72.6
6461 |BRFHF EEAA 40 41 81 8.4) 72.6
6o HE — 45 48 93| 20.4) 72.6
660 |BEAR {EIE 46 41 87 14.4) 72.6
676 AR £ 42 51 93| 20.4) 72.6
684 & E353 44 37 81 8.4) 72.6
696 EM B 47 52 99| 26.4) 72.6
106 FHE W 43 44 87/ 14. 4| 72.6|E
N4 BEF = 43 56 99| 26.4) 72.6
260 Bk BEX 41 51 92| 19.2) 72.8
¥ (IUE EX 42 44 86 13.2| 72.8
1ML J\K ZERE 42 44 86 13.2| 72.8
56 1R Ih 43 49 92| 19.2) 72.8
164 kR FEE 45 41 86 13.2| 72.8
716 HF =F 38 42 80 7.2| 72.8
18 |NE f— 47 45 92| 19.2) 72.8
19461 ;BB A 43 42 85 12.0/ 73.0
804r |;ATEy HEX 45 46 91| 18.0/ 73.0/#kE
B1fL |paIEp #5H 49 48 97/ 24.0/ 73.0
826 Bl IEE 42 43 85 12.0 73.0
83f @M Aofl 50 53] 103] 30.0 73.0
84t I BE 47 44 91 18.0 73.0
85 \M® FIHK 51 46 97 24.0 73.0
86f. =% B= 45 46 91 18.0 73.0
816t |[EW EBEF 48 49 97| 24.0/ 73.0
88f IRA R 46 45 91 18.0 73.0
89t =IE =& 47 44 91 18.0 73.0
00 =B FE 51 52/ 103] 30.0 73.07%%E
offz /NE TE 43 41 84 10.8] 73.2
92261 | K| FRH 50 52| 102| 28.8| 73.2
03 AR % 43 47 90| 16.8] 73.2
94f1 BRI ®ME 50 52| 102| 28.8| 73.2
9541 ¥y HE b1 51 102| 28.8| 73.2
966 Ik IEEF 49 53| 102| 28.8| 73.2
9761 |FHE BX 56 52| 108| 34.8| 73.2
984z |RIA RE 44 46 90| 16.8] 73.2

P-2 JO9SowoadNI957




fZEEeR (ES2—

—®D&R)

2024 &£ 12 A 9 8 (A)

~

2024 &£ 12 A 15 B (A)

B IE HINUT

HE A

HDCPERE: (B8) 36.0 (%) 36.0
B Lol
k k ok 3k k %k 3k
7 DEEOEOES 1 DMHREBBHDE
fE:
JIE 15z B EA TiE TIh 14 |GROSS| HDGP | NET
9 | KB B=E 40 44 84/ 10.8| 73.2
100 =& EEX 48 47 95| 21.6/ 73.4|7kE
1017 B/ BH 49 46 95| 21.6| 73.4
1022 P9z fbi— 44 45 89 15.6/ 73.4
1031 BHR B— 45 44 89 15.6/ 73.4
10441 fmE FH 44 45 89 15.6/ 73.4
1056 \FFt A& 44 45 89 15.6/ 73.4
1064z FaE EBB5 39 38 771 3.6] 73.4
10741 #EH fE— 43 46 89 15.6 73.4
1084 |X¥ MHH 45 44 89 15.6 73.4
1096 AR FEX 49 46 95| 21.6| 73.4
11062 #JII Kb 48 53 101 27.6| 73.4
M4z 58xR Bls 35 35 70| -3.6/ 73.6
11261 AR F: 45 49 94| 20.4) 73.6
11361 A0 RF 45 49 94| 20.4) 73.6
11441 |7 ABR 40 42 82 8.4) 73.6
11561 AH g 45 43 88 14.4| 73.6
11647 |#F  #— 48 52/ 100| 26.4| 73.6
M7z ¥EA KX 42 46 88 14.4| 73.6
11841 #EH Bak 42 46 88 14.4| 73.6
11941 | & Ih 47 41 88 14.4| 73.6
120461 |4 FHE 39 42 81 17.2| 73.8|F&kE
12142 | g@ B= 40 41 81 7.2| 73.8
12241 |38EA & 40 47 87 13.2| 73.8
12361 |=Z )1 &= 42 45 87 13.2| 73.8
12441 |#rHE  &hid 50 49 99| 25.2| 73.8
12561 HER REZ 43 44 87 13.2| 73.8
12661 iF ESR 49 50 99| 25.2| 73.8
12761 |#H R¥F 44 43 87 13.2| 73.8
12841 | ZEE BB 41 46 87 13.2| 73.8
1291 | &FE RBIC 51 54 105| 31.2| 73.8
1302 HE & 46 53 99| 25.2| 73.8
13146 38 52 46 98| 24.0/ 74.0
13261 #H mE 40 40 80/ 6.0/ 74.0
13361 ¥JgiI =X 46 46 92| 18.0| 74.0
13461 mIJII B(K 48 50 98| 24.0/ 74.0
135 &1l B=E 43 43 86| 12.0| 74.0
1364 AR IEFH 47 45 92| 18.0| 74.0
137161 | &= FE 49 49 98| 24.0/ 74.0
13861 HER REZ 43 43 86| 12.0| 74.0
1394 |l B=E 48 50 98| 24.0/ 74.0
14061 |FW B— 51 53] 104| 30.0| 74.0|7kE
141461 K& ﬂ“i 45 47 92| 18.0| 74.0
14261 &Il A 41 45 86| 12.0| 74.0
14341 A% 1= 48 44 92| 18.0] 74.0
14441 | w5 ThiE 45 41 86/ 12.0/ 74.0
14540 HHF BE 46 45 91| 16.8]| 74.2
1464 fmEA FH 44 41 85| 10.8| 74.2
14760 | ER —=% 44 47 91| 16.8]| 74.2
P-3 JI9S5 9o aNnao57




fZEEeR (ES2—

—®D&R)

2024 &£ 12 A 9 8 (A)

~

2024 &£ 12 A 15 B (A)

B IE HINUT

HE A

HDCPERE: (B8) 36.0 (%) 36.0
B Lol
k k ok 3k k %k 3k
7 DEEOEOES 1 DMHREBBHDE
fE:
JIE 15z B EA TiE TIh 14 |GROSS| HDGP | NET
14841 | KHE E= 43 54 97| 22.8) 74.2
14941 7% 5HH 46 39 85 10.8| 74.2
1504z EE? &z 50 53| 103| 28.8| 74.2|7%k=E
15141 ZEiE Bth 42 49 91| 16.8| 74.2
15241 | /Flu fBE 46 57/ 103| 28.8| 74.2
15361 28 K& 46 45 91| 16.8| 74.2
15441 %8 B 53 50 103| 28.8| 74.2
1551 & & 42 48 90| 15.6| 74.4
1564 B8 HAX 44 40 84 9.6 74.4
15741 ;AN EIE 51 57/ 108| 33.6| 74.4
1584 |[IUF 1848 51 45 96| 21.6| 74.4
15941 ht] BT 49 47 96| 21.6| 74.4
1604 38 = 39 45 84 9.6| 74.4|FkE
1614 | &H H&EF 47 55/ 102| 27.6| 74.4
16241 | =) i 47 43 90| 15.6| 74.4
1634z | Kfia £ 46 44 90| 15.6| 74.4
16441 |LLuFx RH 47 49 96| 21.6| 74.4
1656 #2@EH mIX 40 44 84 9.6 74.4
16642 [HT HA 48 48 96| 21.6| 74.4
167462 [kO 2 53 55/ 108| 33.6| 74.4
168461 E¥r FIFxE 54 54 108| 33.6| 74.4
16961 fER FA 59 49/ 108| 33.6| 74.4
1706 =k F= 47 49 96| 21.6| 74.4
174 BER BE 47 43 90| 15.6| 74.4
17240 | Fx J'I:EL\ 47 43 90| 15.6| 74.4
17361 |FE 43 47 90| 15.6| 74.4
17461 | KR# HE. 42 48 90| 15.6| 74.4
1756 E% ¥k 43 41 84 9.6 74.4
17661 =H 1EF 49 46 95| 20.4) 74.6
1761 fE ZF#H 55 521 107| 32.4| 74.6
17841 FAE %= 46 49 95| 20.4) 74.6
17961 | KK % 40 43 83 8.4| 74.6
1804 HAF KA 46 49 95| 20.4| 74.6 FRE
18141 |THiEl UV &H 47 48 95| 20.4| 74.6
1826 | KK #2 52 49/ 101 26.4| 74.6
18341 [2)Il SH 41 42 83| 8.4| 74.6
18441 B2 K1E 49 52| 101| 26.4| 74.6
18561 #iR = 45 50 95| 20.4| 74.6
1864z &L BRA 42 47 89| 14.4| 74.6
1876 | BE EE 41 48 89| 14.4| 74.6
1884 | AXXK FE 43 52 95| 20.4| 74.6
18961 | KRFt 5k 47 48 95| 20.4| 74.6
19042 #0 i 49 51 100| 25.2| 74.8
19141 BTEH FEX 48 46 94| 19.2| 74.8
1924z [ ?ea 49 45 94| 19.2] 74.8
19361 |BiK 43 39 82 17.2| 14.8
19441 |HIE ER 48 46 94| 19.2] 74.8
19561 AR ®HE 44 44 88/ 13.2| 74.8
19641 R 5&x b1 49/ 100| 25.2| 74.8
P-4 JI9S5 9o aNnao57




fZELER (ESZ—D8]

2024 &£ 12 B 9 B (A) ~ 2024 £ 12 B 15 B (BH)
BEAE BT TRER. 7 I/ —
HDCPERE: (B8) 36.0 (%) 36.0
B Lol
k k ok 3k k %k 3k
7 DEEOEOES 1 DMHREBBHDE
fE:

JIE 15z B EA TiE TIh 14 |GROSS| HDGP | NET
1970 /AR 5 56 55 111} 36.0| 75.0
19841 |{#& =F 43 38 81 6.0 75.0
1991 Ay == 45 42 87 12.0 75.0
20041 fREEEH AZE 50 55/ 105/ 30.0| 75.0|F&k=
2014 K&t A& 55 56 111| 36.0| 75.0
2024 |RIEH X— 48 51 99| 24.0/ 75.0
203z =M A 44 43 87 12.0 75.0
20445 | R¥T  1HAE 43 44 87 12.0 75.0
20561 %% B—ER 48 45 93| 18.0/ 75.0
2064 AR —1{Z 40 41 81 6.0 75.0
20741 R &BZ 48 57/ 105| 30.0| 75.0
208f1 &% Fz 49 44 93| 18.0/ 75.0
2004 |[ILN & 46 47 93| 18.0/ 75.0
2102 HE BBIE 43 44 87 12.00 75.0
20116 |BEAR  BE 47 46 93| 18.0/ 75.0
2126 | R FE 49 50 99| 24.0/ 75.0
2136 | &H 1EX 44 43 87 12.00 75.0
214461 &R/ F= 42 51 93| 18.0/ 75.0
21541 |=& #* 40 41 81 6.0 75.0
21660 HH F® 47 52 99| 24.0/ 75.0
21741 #BH &E= 49 44 93| 18.0/ 75.0
21861 & w3t 50 49 99| 24.0/ 75.0
21900 Bk BAx 48 51 99| 24.0/ 75.0
2200 AR —1{8 43 43 86 10.8| 75.2
22161 %R &8 47 45 92| 16.8| 75.2
22241 W BRA 56 54 110 34.8| 75.2
22361 | FFr =4 45 47 92| 16.8| 75.2
2241 %5 1EH| 45 53 98| 22.8| 75.2
2254 |#dt EZ 56 54| 110| 34.8| 75.2|RE
22641 hE foiE 38 42 80 4.8 75.2
22161 iIE FiXt 49 49 98| 22.8| 75.2
2281 |[FH ,l,\%? 50 48 98| 22.8| 75.2
22941 [Pl EZE 50 42 92| 16.8] 75.2
2306z |FE E,‘u‘ 44 48 92| 16.8] 75.2
2314 [hIl Bz 44 48 92| 16.8] 75.2
23241 |&fE F0iT 49 49 98| 22.8| 75.2
2331 KfE EA 47 45 92| 16.8] 75.2
234 Rk K 51 47 98| 22.8/ 75.2
2351 R EHiA 54 56/ 110| 34.8] 75.2
23661 /MNP BFAT 40 46 86/ 10.8| 75.2
237461 | BA SEH 45 53 98| 22.8| 75.2
23861 | EH HE 54 56/ 110| 34.8] 75.2
23961 | K FE 51 53| 104| 28.8] 75.2
24060 #VE EA 46 52 98| 22.8| 75.2
2061 K&t EB 40 45 85 9.6/ /5.4
20261 [LUA FHE 48 49 97| 21.6| 75.4
24361 [ IUAR  shZ 44 41 85 9.6/ /5.4
24461 (AR —ER 42 43 85 9.6/ /5.4
24541 |#HET  BR 44 53 97| 21.6| 75.4
P-5 JI9S5 9o aNnao57




fZELER (ESZ—D8]

2024 &£ 12 B 9 B (A) ~ 2024 £ 12 B 15 B (BH)

BEAE BT TRER. 7 I/ —

HDCPERE: (B8) 36.0 (%) 36.0

B Lol

k k ok 3k k %k 3k
7 DEEOEOES 1 DMHREBBHDE
fE:

JIE 15z B EA TiE TIh 14 |GROSS| HDGP | NET
24601 [1EE IBEZ 48 551 103 27.6| 75.4
24161 FE Hif 43 42 8 9.6 75.4
24861 J\K ERE 47 44 91| 15.6] 75.4
24941 |[BTH Z=EB 52 511 103| 27.6| 75.4
2504 B Z58 47 56/ 103| 27.6| 75.4|7k=E
25141 [/NE BRE 47 50 97| 21.6| 75.4
2521 | &k =EX 43 48 91| 15.6] 75.4
25361 B = 48 49 97 21.6| 75.4
2544 |ZEH B 50 53] 103| 27.6| 75.4
2554 B BFRR 44 47 91| 15.6] 75.4
2564 |th¥F  F05h 48 49 97| 21.6| 75.4
2576 e B— 50 47 97| 21.6| 75.4
25841 HFO FHa 52 57/ 109| 33.6| 75.4
2594 ‘&0 =E 50 47 97| 21.6| 75.4
260 Il RIE 50 47 97| 21.6| 75.4
2614 |HhBF IE 45 52 97| 21.6| 75.4
26241 #EH EF 45 58 103| 27.6| 75.4
26361 AT 49 54 103| 27.6| 75.4
26441 E%Jﬁ BaF 55 54 109| 33.6| 75.4
2651 |FiIE =FHK 52 57/ 109| 33.6| 75.4
26661 |EFT MRt 54 49/ 103| 27.6| 75.4
26741 |#AE BHME 47 50 97| 21.6| 75.4
2684 fhiE BBA 46 45 91| 15.6] 75.4
2694 |EBE B 49 48 97| 21.6| 75.4
2100 | FH IR 50 47 97| 21.6| 75.4
21161 | AH =i 43 48 91| 15.6] 75.4
2126 =8B ZHZ BB 50 46 96| 20.4) 75.6
2136 &0 JT— 41 43 84/ 8.4| 75.6
21461 [fEH  FBK 46 50 96| 20.4) 75.6
21561 |FH X# 46 50 96/ 20.4) 75.6/RE
266 (UK F 43 41 84/ 8.4| 75.6
2776 | JIIEHE #HX 50 52/ 102| 26.4| 75.6
218HL |Fhil 127 48 54| 102| 26.4| 75.6
2719461 |FmFEAK ﬁﬂi 46 44 90| 14.4| 75.6
2804z AT HET 44 46 90| 14.4| 75.6
28161 | HHN EF 50 58| 108| 32.4| 75.6
28261 | BE =FE 49 47 96/ 20.4| 75.6
28341 MR EFE 54 54| 108 32.4| 75.6
28441 |EIE K# 53 49| 102| 26.4| 75.6
28561 [1EH [Ez 45 56/ 101| 25.2] 75.8
28641 |JIIEH F# 41 54 95| 19.2] 75.8
2876 |[E&£ HEE 45 44 89 13.2| 75.8
2881 |KH {E— 46 43 89| 13.2| 75.8
2891 |FZFA  EHF 43 46 89| 13.2| 75.8
290 [#RE EE 56 51 107 31.2| 75.8
2140 fEARK % 43 46 89| 13.2| 715.8
29241 |Hhi#E HKETF 45 44 89| 13.2| 715.8
203 BEAR EE 42 47 89| 13.2| 715.8
29441 |inI%F  #)F 43 40 83 7.2| 15.8

P-6 JO9SowoadNI957




fZEEeR (ES2—

—®D&R)

2024 &£ 12 A 9 8 (A)

~

2024 &£ 12 A 15 B (A)

B IE HINUT

HE A

HDCPERE: (B8) 36.0 (%) 36.0
B Lol
k k ok 3k k %k 3k
7 DEEOEOES 1 DMHREBBHDE
fE:
JIE 15z B EA TiE TIh 14 |GROSS| HDGP | NET
295 [feH Z{E 47 48 95/ 19.2) 75.8
29601 i B— 52 55/ 107| 31.2| 75.8
2974 |WUh  IE1E 46 49 95/ 19.2) 75.8
29841 ILAK Em 45 50 95/ 19.2) 75.8
29947 hnE T2 53 54 107| 31.2| 75.8
30061 MRF FBE 46 43 89 13.2| 75.8|®k=E
30142 |/D# FER 44 45 89 13.2| 75.8
30261 L Fth 44 45 89 13.2| 75.8
303 |[Htf B# 50 511 101 25.2| 75.8
30461 B M 45 50 95/ 19.2) 75.8
3054 |= Cha 50 45 95/ 19.2) 75.8
066 | BH Bt 52 49/ 101 25.2| 75.8
3074 |HAT =i 56 56| 112 36.0| 76.0
3084 |=H 1EE 42 46 88/ 12.0/ 76.0
3094 AR 51 61 112 36.0/ 76.0
106 | BA ®E 53 59 112 36.0| 76.0
3114z | #kH XF 50 56| 106| 30.0| 76.0
3124 |ByO EKF 51 49/ 100| 24.0| 76.0
31361 | Fhl ZEER 55 511 106| 30.0| 76.0
M4 | B R= 51 55/ 106 30.0| 76.0
31561 s = 49 511 100| 24.0| 76.0
31661 | KfE  ZFi=E 46 48 94| 18.0/ 76.0
6L P EX 56 50/ 106| 30.0| 76.0
3186 HEBER —A 48 46 94| 18.0/ 76.0
31941 |Fr BF 45 43 88/ 12.0/ 76.0
3204 | KT B 56 56| 112| 36.0| 76.0
32141 [>kH Rl 48 52/ 100| 24.0| 76.0
32241 |BEH EF 47 53 100| 24.0| 76.0
323 (IR B— 43 45 88/ 12.0/ 76.0
32461 | EiI KEB 46 48 94| 18.0/ 76.0
3251 iS5 HEE 45 43 88| 12.0| 76.0|FkE
3264 |[#EIL f0th 42 46 88/ 12.0/ 76.0
32741 |%EH fh 56 56/ 112| 36.0 76.0
32841 |fRIF JF 43 50 93| 16.8] 76.2
3294 |BEIR  EX 54 51| 105| 28.8] 76.2
3304z |/hL EE 47 46 93| 16.8] 76.2
B AR KK 48 51 99| 22.8] 76.2
33241 &% fmA 49 50 99| 22.8] 76.2
3336z /MR %N 46 53 99| 22.8] 76.2
¥4 | EEL H— 44 49 93| 16.8] 76.2
335 IRE E1T 45 48 93| 16.8] 76.2
33641 *%K HF 52 53| 105| 28.8] 76.2
3374 |FK EE*'J? 47 52 99| 22.8] 76.2
338 AR 42 45 87/ 10.8| 76.2
3391 | B J'I:T?} 49 50 99| 22.8] 76.2
3404 | REEE AN — 46 4] 93| 16.8] 76.2
3MEL |FRE TE 49 50 99| 22.8] 76.2
4241 O & 45 48 93| 16.8] 76.2
343 |FhL ER 49 56| 105| 28.8| 76.2
P-7 JI9S5 9o aNnao57




fZELER (ESZ—D8]

2024 &£ 12 B 9 B (A) ~ 2024 £ 12 B 15 B (BH)

BEAE BT TRER. 7 I/ —

HDCPERE: (B8) 36.0 (%) 36.0

B Lol

k k ok 3k k %k 3k
7 DEEOEOES 1 DMHREBBHDE
fE:

JIE 15z B EA TiE TIh 14 |GROSS| HDGP | NET
AL (W FERE 47 46 93| 16.8 76.2
561 IhE EBR 57 54/ 111| 34.8| 76.2
4661 | EH HEEF 52 47 99| 22.8 76.2
Ak HEFI BN 52 47 99| 22.8 76.2
MBhL ERE B2 54 511 105| 28.8| 76.2
M9 A XE 52 53| 105| 28.8| 76.2
35061 Kk K& 51 60| 111 34.8 76.2|FRE
B | K#HE A= 44 48 92| 15.6| 76.4
321 | FER W= 44 48 92| 15.6| 76.4
35341 [#%Er HEX 44 48 92| 15.6| 76.4
35441 |fEH EB 44 48 92| 15.6| 76.4
35541 |iE fE# 47 45 92| 15.6| 76.4
356f |IEKR HE 55 55/ 110 33.6| 76.4
b |FEE J?rﬂ 42 44 86 9.6 76.4
358461 ER WS 48 50 98| 21.6| 76.4
3594z Heh 15’[5} 45 47 92| 15.6| 76.4
360z |FH HEF 48 50 98| 21.6| 76.4
36161 £k # 44 42 86 9.6 76.4
36241 FE B 44 48 92| 15.6| 76.4
363 [FE RZ 50 48 98| 21.6| 76.4
36441 EH /\FH 57 47 104| 27.6| 76.4
365f |EEHF —k 50 48 98| 21.6| 76.4
3664 TR 1E{E 48 49 97| 20.4) 76.6
6741 |E1E % 48 49 97| 20.4) 76.6
3684 |HE f&KE 46 45 91| 14.4) 76.6
3694 |[® i 53 44 97| 20.4) 76.6
3104 | KE ME 52 511 103| 26.4| 76.6
ML |24 =X 47 44 91| 14.4) 76.6
31241 | KAIlR & 52 511 103| 26.4| 76.6
3134L |wAK EE 50 53] 103| 26.4| 76.6
I [fEARK  fBth 54 55/ 109| 32.4| 76.6
3151 fEAK IE 46 45 91| 14.4) 76.6/ RE
37661 |PERE  JEF 48 49 97| 20.4| 76.6
STT6L |#¢  FHHt 47 44 91| 14.4) 76.6
37841 L —% 47 44 91| 14.4) 76.6
319 EBiE EE 53 50/ 103| 26.4| 76.6
380 | EH HE 56 47/ 103| 26.4| 76.6
B  EVE E 48 43 91| 14.4) 76.6
38241 FHLE Ei 46 56/ 102| 25.2| 76.8
383 kIR 1RIE 54 48| 102| 25.2| 76.8
3844 =EH FBA 47 55| 102| 25.2| 76.8
3854 (IUE —# 51 51 102| 25.2| 76.8
3864 |{hEF 1B 45 51 96/ 19.2| 76.8
3874 LG B2 45 45 90| 13.2] 76.8
3874 LG R 46 44 90| 13.2] 76.8
3894z Hix 1EE 54 54| 108| 31.2| 76.8
3904z |FHFKk ER 52 44 96| 19.2| 76.8
914 | ER 50 46 96| 19.2| 76.8
3921 |FhiIL E— 45 45 90| 13.2] 76.8
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JIE 15z B EA TiE TIh 14 |GROSS| HDGP | NET
393 | BAlE Bz 47 49 96| 19.2) 76.8
3944z |dt)Il At 49 53] 102| 25.2| 76.8
39541 |fHAGT BvA 42 53 95/ 18.0/ 77.0
39661 | Kil BX 55 58 113| 36.0| 77.0
9L | BRI 5P 46 49 95/ 18.0/ 77.0
39841 | K% JFk 48 53 101| 24.0| 77.0
391 FE & 49 52| 101 24.0| 77.0
40061 RE B 52 55/ 107| 30.0| 77.0|F&k=E
4014z A%y S RAF 46 55 101 24.0| 77.0
40261 |[FEKRK [EE 55 52| 107| 30.0| 77.0
40361 |FAR  H— 38 51 89 12.00 77.0
40441 |4t &% 55 58 113| 36.0| 77.0
40561 | #3F M= 59 54/ 113| 36.0| 77.0
40661 |FA EIF 56 511 107| 30.0| 77.0
40761 AIEF 1B 58 55 113] 36.0| 77.0
40861 =R &K 52 55/ 107| 30.0| 77.0
40961 Ak = 49 58/ 107| 30.0| 77.0
MNohL &= HBHE 46 49 95/ 18.0/ 77.0
ML | AWEB H8 45 50 95/ 18.0/ 77.0
N2 Bl M 48 47 95/ 18.0/ 77.0
N3 |&F X 45 50 95/ 18.0/ 77.0
MASL (B R 54 53| 107| 30.0| 77.0
M54 2 BF 45 44 89 12.00 77.0
AM6hL ¥ T 52 49/ 101| 24.0| 77.0
MIbL /hvk Bt 51 44 95/ 18.0/ 77.0
4184 B CE 54 53| 107| 30.0| 77.0
NI HE F 41 41 82 4.8 71.2
42061 | HA FEHKF 52 48| 100| 22.8| 77.2
2141 HBHE 1" 48 46 94| 16.8| 77.2
42241 |78 BEAR 61 511 112| 34.8| 77.2
4234 |IBH ;X 45 55/ 100| 22.8| 77.2
42461 BEAR EF 49 45 94| 16.8| 77.2
42541 | KE 56 56/ 112 34.8| 71.2|5RE
2660 | HE &L 45 49 94| 16.8] 77.2
42161 %R B— 59 53| 112 34.8] 71.2
42861 |[BF UV EH 50 50/ 100| 22.8] 77.2
42941 AT BAKE 43 45 88| 10.8| 77.2
43061 |[RE &R 55 51 106| 28.8] 77.2
3141 |iEE FF 55 51 106| 28.8] 77.2
43261 |7BK E— 53 47/ 100| 22.8] 77.2
43341 ;A %F— 49 51 100| 22.8] 77.2
434461 | KB EF 51 55| 106 28.8] 77.2
43561 /P8 BRE 57 49| 106| 28.8] 77.2
43641 | KEF BB 56 56| 112| 34.8] 77.2
43161 BEN F 49 51 100| 22.8| 71.2
43841 | HE)I Fth 46 48 94| 16.8] 77.2
439461 A HEF 46 53 99| 21.6| 77.4
44041 | KB =R 45 48 93| 15.6| 77.4
A4 [JKE H# 50 49 99| 21.6| 77.4
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B Lol
k k ok 3k k %k 3k
7 DEEOEOES 1 DMHREBBHDE
fE:
JIE 15z B EA TiE TIh 14 |GROSS| HDGP | NET
40201 [)Il@ #h= 49 56| 105| 27.6| 77.4
4436 |\ K BEEK 47 46 93| 15.6| 77.4
44461 |F IE 47 52 99| 21.6| 77.4
45461 |1EBR E=FF 49 50 99| 21.6| 77.4
44661 |=H B— 54 511 105| 27.6| 77.4
M4 |ERH HE 45 48 93| 15.6| 77.4
861 BH FR 49 50 99| 21.6| 77.4
4494 |F)Il F0A 52 53| 105| 27.6| 77.4
450461 |PAIER EF 54 57 111 33.6| 77.4|5kE
51461 & H— 47 51 98| 20.4) 77.6
45241 R ERX 55 55/ 110| 32.4| 77.6
4534 |k FE 51 591 110| 32.4| 77.6
A | BIR =B 49 55/ 104| 26.4| 77.6
455451 | F#T  FIER 52 52/ 104| 26.4| 77.6
45642 | EH EXER 53 571 110 32.4| 77.6
5161 KE FZ 51 591 110| 32.4| 77.6
45861 FEE B 51 591 110| 32.4| 77.6
45961 |l EEE 43 49 92| 14.4) 77.6
46061 | &S {HER 53 511 104| 26.4| 77.6
46141 |UE IEAR 49 49 98| 20.4) 77.6
46241 /NIl EBET 49 49 98| 20.4) 77.6
46341 |[SH E£— 52 52/ 104| 26.4| 77.6
46461 HE =R 53 511 104| 26.4| 77.6
46561 AKX B 57 53 110| 32.4| 77.6
46641 BB EBA 60 50 110| 32.4| 77.6
6761 | K¥ KRE 50 48 98| 20.4) 77.6
46861 |E)Il =B 53 50 103| 25.2| 77.8
46961 RHF E 50 47 97| 19.2) 77.8
470461 |ZH L&\ 47 50 97| 19.2) 77.8
AN | F% 23S 47 50 97| 19.2) 77.8
471261 |FaFx R 56 53 109| 31.2| 77.8
41361 |kIE 1 49 54 103| 25.2| 77.8
AL =% Bt 42 49 91| 13.2| 77.8
41561 (FrE FZ 45 46 91 13.2| 71.8/kRE
47661 HIME EZ 47 50 97| 19.2| 77.8
AT 3R =i 46 45 91| 13.2| 77.8
4781 | TE =FK 52 51 103 25.2| 77.8
471961 |faitk #4875 55 48| 103| 25.2| 77.8
48041 | HO ZF 55 48| 103| 25.2| 77.8
48141 |ABE  Hsk 46 45 91| 13.2| 77.8
4821 |EKRK HE 44 46 90| 12.0] 78.0
1831 |BA B 47 55| 102| 24.0) 78.0
84451 | K& & 46 44 90| 12.0] 78.0
48541 [y fEHE 46 50 96| 18.0| 78.0
4864 [JAIEy  ADAF 48 48 96| 18.0| 78.0
AB1h WitE 1B 46 44 90| 12.0] 78.0
48841 |HRk VAT 51 57/ 114| 36.0| 78.0
48941 |HhH AR 44 46 90| 12.0] 78.0
49061 |EH IEX 42 48 90| 12.0] 78.0
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P14 [FEE # 51 511 102| 24.0| 78.0
49241 1EH % 49 53] 102| 24.0| 78.0
49361 A XA 51 45 96| 18.0/ 78.0
49461 | HE E=E 52 50/ 102| 24.0| 78.0
4954 |J\IE =B 53 55/ 108 30.0| 78.0
49641 3B LW & 55 53| 108| 30.0| 78.0
49741 |HIE FHR 47 61/ 108| 30.0/ 78.0
49841 |Fr¥ T F 46 50 96| 18.0/ 78.0
199 EH = 52 50/ 102| 24.0| 78.0
5001 KRRk EME 46 49 95| 16.8| 78.2|FkE
501462 1T EE 42 47 89 10.8| 78.2
5021 | E% IEf 50 511 101| 22.8| 78.2
503c |FaRE {RIE 56 571 113| 34.8| 78.2
50441 | K#t JE— 53 54 107| 28.8| 78.2
505 [ KH =% 47 60 107| 28.8| 78.2
506 {EAK #WE 53 54 107| 28.8| 78.2
50761 &EL EBX 50 45 95| 16.8] 78.2
5084 ¥k #K 50 45 95| 16.8 78.2
5096t HEF A= 56 571 113| 34.8| 78.2
51042 |JIl3 ;&5h 48 53 101| 22.8| 78.2
5114 |7/R FO4K 52 55/ 107| 28.8| 78.2
51241 |/KE # 52 43 95| 16.8 78.2
5136t ®Hh EE 55 52/ 107| 28.8| 78.2
5140 |3 ;&7 49 52/ 101| 22.8| 78.2
516 AR &= 47 48 95| 16.8 78.2
5166 Il TFE 52 55/ 107| 28.8| 78.2
511 (=& F— 47 53| 100| 21.6| 78.4
518 kA 13 50 50/ 100| 21.6| 78.4
51960 HhigA EER 55 511 106| 27.6| 78.4
5204z [PaIER K& 47 47 94| 15.6| 78.4
161 =78 ZBHEF 57 55| 112| 33.6| 78.4
5224si #E X 48 46 94| 15.6| 78.4
5231 EW IEXE 52 48/ 100| 21.6| 78.4
52441 [lUep BlF 42 46 88| 9.6/ 78.4
52541 |PRIER R— 51 49, 100| 21.6| 78.4|FkE
52647 = )II F0AI 48 52| 100| 21.6| 78.4
521t & 1EZ 48 58| 106| 27.6| 78.4
528 [IlR E18 56 56/ 112| 33.6| 78.4
521  RE AKE 52 54| 106| 27.6| 78.4
5301 #F K R 53 53| 106| 27.6| 78.4
3111 EBlR &= 51 54| 105| 26.4| 78.6
53241 | K+t 18{E 50 49 99| 20.4| 78.6
53361 |[/hE BE 48 63| 111] 32.4| 78.6
53441 | FHIII =88 51 54| 105| 26.4| 78.6
53bf /hE EBE 46 47 93| 14.4) 78.6
5364 |ZEH HBF 53 52| 105 26.4| 78.6
5311 | RAR IEE 44 49 93| 14.4) 78.6
538t HA H= 52 53| 105 26.4| 78.6
53941 |HFt HRF 50 49 99| 20.4| 78.6
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JIE 15z B EA TiE TIh 14 |GROSS| HDGP | NET
5401 [shET BUE 53 58 111] 32.4| 78.6
LR 1 54 511 105| 26.4| 78.6
54261 EA  EEHK 42 45 87 8.4| 78.6
543G |FEH EH=E 58 53 111| 32.4| 78.6
54441 |AH BHA 58 53 111| 32.4| 78.6
545 WHEH #Ht 56 55 111] 32.4| 78.6
5466 BA HZ 46 52 98| 19.2) 78.8
4761 | KE B 51 53] 104| 25.2| 78.8
S48GL |FEH Hth 48 56| 104| 25.2| 78.8
5491 fEE IEE 47 51 98| 19.2) 78.8
5501 A & 48 56/ 104| 25.2| 78.8|Fk=E
551 &K [EAH| 45 53 98| 19.2) 78.8
55241 |BH &R 54 56 110| 31.2| 78.8
55341 |#rkH EL\—‘?'— 49 55/ 104| 25.2| 78.8
5040 & = 50 48 98| 19.2) 78.8
555 Ry L\ D& 51 53] 104| 25.2| 78.8
5564 #8A& X 39 52 91 12.0/ 79.0
5574 #MME EBE 59 56| 115| 36.0| 79.0
558 |HIHEH [& 45 52 97/ 18.0/ 79.0
5504 EER MEE 50 53 103| 24.0| 79.0
5601 BE HH 56 59| 115 36.0| 79.0
5614z H¥7 EESRER 53 56| 109| 30.0| 79.0
562 MK E2 55 54/ 109| 30.0| 79.0
5636 FEA EH 49 54/ 103| 24.0| 79.0
5640 A Eth 61 54/ 115| 36.0| 79.0
5651 kiE EH 54 55/ 109| 30.0| 79.0
5664z |IRE = FF 50 521 102 22.8| 79.2
567 | EH #1947 49 53 102| 22.8| 79.2
5681 FxFA FIBH 54 54 108| 28.8| 79.2
569f FH =EX 49 59 108| 28.8| 79.2
5106 B ¥ 45 571 102| 22.8| 79.2
ST &R/ 1IER 44 46 90| 10.8] 79.2
57261 KER EA 56 58| 114| 34.8] 79.2
51361 5k HT‘FHE 54 60, 114 34.8) 79.2
ST1AL ke AE 49 53| 102| 22.8] 79.2
57541 bk EX 55 47, 102| 22.8| 79.2|FKRE
5764 HRHEH HBF 49 53| 102| 22.8] 79.2
ST16L | &= *’ﬁ— 51 51 102| 22.8| 79.2
518 | ER EZ 55 59| 114| 34.8] 79.2
5794 |FaTER  FORK 49 47 96, 16.8] 79.2
580 AR EESA 50 46 96, 16.8] 79.2
58161 |FR K# 50 52| 102| 22.8] 79.2
5824 A FXER 51 51 102| 22.8] 79.2
5831 #H &£5 55 58/ 113| 33.6| 79.4
58441 BFE B 52 61 113 33.6| 79.4
5854 | KEF HAAI 50 45 95| 15.6] 79.4
586f Tk Rh 61 52| 113] 33.6| 79.4
58741 |ILA BRE 53 60 113 33.6/ 79.4
588 |&mlIl EEE 46 b5 101 21.6| 79.4
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58941 [KH ZREF 55 58 113] 33.6| 79.4
5007 HH % 49 46 95/ 15.6] 79.4
59161 | FEH BF 48 53] 101 21.6| 79.4
5921 KFxFx —#o 50 571 107| 27.6| 79.4
593fr 5K #h 52 54 106 26.4| 79.6
5461 FH E&E 52 54 106 26.4| 79.6
5954 | tIF EHKF 52 54 106| 26.4| 79.6
59641 Z2ft = 54 52/ 106| 26.4| 79.6
59761 ARHEH B 55 570 112 32.4| 79.6
5986 KiFm —= 47 59 106| 26.4| 79.6
5994s |[EJHEH 47 47 94| 14.4) 79.6
6004z |RITEH Y&k 55 511 106| 26.4| 79.6|/Fk=E
601462 |¥TR 2AE 53 53] 106| 26.4| 79.6
6021 =i HE 52 53| 105| 25.2| 79.8
6034z BaIER  EMAT 46 53 99| 19.2) 79.8
60441 PIER EHKF 55 56 111 31.2| 79.8
605 E¥F FEZ 52 53| 105| 25.2| 79.8
606z EBt E 52 59 111} 31.2| 79.8
60761 BH FEA 54 511 105| 25.2| 79.8
6084z LU =EFE 50 55/ 105 25.2| 79.8
6094z EHE FH|X 53 58 111] 31.2| 79.8
6104z /N E—ER 49 62| 111 31.2] 79.8
6116 RHF E 49 55/ 104| 24.0| 80.0
6124 K =iF 51 53] 104| 24.0| 80.0
6136 KB 1% 55 55/ 110| 30.0| 80.0
6146 | &% EAN 53 511 104| 24.0| 80.0
61561 EF FEZ 57 59| 116 36.0| 80.0
6164 #HBA IEE 50 54 104| 24.0| 80.0
617461 A 2B 54 62| 116| 36.0/ 80.0
6184 |7 &= 58 58/ 116 36.0| 80.0
6196 FHN EF 46 58 104| 24.0| 80.0
6204 SR HF 52 58/ 110| 30.0| 80.0
62141 IO & 48 44 92| 12.0] 80.0
62241 |FFE I1EH 58 52/ 110| 30.0/ 80.0
62361 {EEL & 50 54| 104| 24.0/ 80.0
6241 |SH BEx 59 57/ 116 36.0 80.0
62541 |FigiE Hhth 59 57/ 116] 36.0| 80.0|FkE
6264 I 8% 43 54 97| 16.8] 80.2
627461 |HRk —1& 46 51 97| 16.8] 80.2
62841 #AH I 49 48 97| 16.8] 80.2
629 IR R 49 48 97| 16.8] 80.2
6304z | KfE FX 55 60, 115 34.8| 80.2
6314 | #ik RE 49 54| 103 22.8] 80.2
632 | FE & 59 56/ 115| 34.8] 80.2
6330 FFHE 1E— 50 53] 103| 22.8| 80.2
63441 EH #H-F 49 48 97| 16.8] 80.2
6356z HF Bt 56 59| 115| 34.8| 80.2
63661 EBTE FF 44 47 91| 10.8] 80.2
63710 BEEH R 45 52 97| 16.8] 80.2
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6384 |EF FE=F 50 591 109| 28.8| 80.2
63941 BEA 1%%h 48 55/ 103| 22.8| 80.2
6401 fEfN EF 48 54 102| 21.6| 80.4
64141 |{k3R 5%95 44 52 96| 15.6| 80.4
64244 T BEKF 54 48| 102| 21.6| 80.4
64361 MK KEB 57 571 114| 33.6| 80.4
64441 dtE H 50 46 96| 15.6| 80.4
645461 FEH mMHKF 52 50/ 102| 21.6| 80.4
64641 |3RH #&— 52 62| 114 33.6| 80.4
647461 IR —EBR 59 541 113| 32.4| 80.6
648461 TH EN 50 571 107| 26.4| 80.6
6494 BHEH EZ2 54 591 113| 32.4| 80.6
6504 |EiE EHHt 53 54| 107| 26.4| 80.6 RkE
65111 EED B 51 50/ 101| 20.4| 80.6
6524 |ithE R 59 541 113| 32.4| 80.6
65311 #FF EBEX 50 571 107| 26.4| 80.6
6544z | E¥ IE 51 50/ 101| 20.4| 80.6
65547 Il FZ 49 52/ 101| 20.4| 80.6
6560 BRIG  BA 50 571 107| 26.4| 80.6
65741 |/\H 5 55 58 113| 32.4| 80.6
6581 KFf T 56 571 113| 32.4| 80.6
6594 |/\3k #NE 52 60 112 31.2| 80.8
6601 &H =& 53 53] 106 25.2| 80.8
6614 | KHIE = 50 56| 106| 25.2| 80.8
6626 TN HAF 53 47 100/ 19.2| 80.8
6636 AAK 8% 56 56 112 31.2| 80.8
66441 Ik EX 49 51 100| 19.2| 80.8
6651 |[I=K &I 47 53 100| 19.2| 80.8
6664z [JIIE &8 57 60 117| 36.0/ 81.0
66746 ZH THiE 48 51 99| 18.0/ 81.0
6684 |LLRE FF 58 59 117 36.0| 81.0
6694 | EH & 51 54 105| 24.0| 81.0
670 7fE I 46 53] 99 18.0 81.0
6711 st = 52 59| 111] 30.0 81.0
6726 FE 1% 57 54/ 111) 30.0 81.0
6736 AR TE 49 50 99| 18.0] 81.0
674 MmE E< 57 60| 117 36.0 81.0
675f A # 51/ 54 105 24.0 81.07%%E
676/ @A 2 53 52[ 105 24.0 81.0
6774 |F)II_FE 49] 55 104 22.8] 81.2
678% B X 54 56 110 28.8] 81.2
670(s #ak X 50/ 54| 104 22.8] 81.2
6804 HiE #XEH 48 56| 104| 22.8] 81.2
6814 |EJiI fg= 56/ 60| 116 34.8] 81.2
682 | Bl AR 58 52| 110 28.8| 81.2
6836 fEyx &= 54 50/ 104| 22.8| 81.2
68441 A EER 51 58| 115 33.6| 81.4
6856 | HHN EA 57 52| 109 27.6| 81.4
6864 JTtRK HZ 51 52| 109 27.6| 81.4
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68746 [IEFZF R 58 571 115 33.6| 81.4
6884 #EHEH 1&5h 51 58/ 109| 27.6| 81.4
6894z BIJII #H 52 511 103| 21.6| 81.4
6906z [/NA EEFA 46 571 103| 21.6| 81.4
69141 #BE 11— 55 53] 108| 26.4| 81.6
6927 ZH XF 49 59 108| 26.4| 81.6
693 E¥F F 50 52/ 102| 20.4| 81.6
69441 B BF 48 54 102| 20.4| 81.6
6951 EF HEEF 45 51 96| 14.4) 81.6
6960 |EIE B3 48 65| 113 31.2| 81.8
6974 #ZlL HEZ 50 571 107| 25.2| 81.8
69841 EER A 48 53] 101 19.2| 81.8
6994 |H & 52 61 113 31.2| 81.8
700 fHEH KEE 55 52/ 107| 25.2| 81.8|Fk=E
10146 | B FEX 51 50/ 101| 19.2| 81.8
10242 |#AE  BBIE 52 60 112 30.0/ 82.0
7034z | EH EXER 44 62| 106| 24.0/ 82.0
10441 mIEH FIX 58 60/ 118 36.0/ 82.0
1056 ARHE B 57 55 112 30.0| 82.0
1064 |FEH EIE 50 56| 106| 24.0| 82.0
1076 ZlR EE 53 53 106| 24.0| 82.0
1086 & BEF 60 58/ 118| 36.0| 82.0
1094 HiEFH & 60 58/ 118| 36.0| 82.0
oG /hNER #BZ 57 55 112 30.0| 82.0
Nz =K =T 61 57/ 118| 36.0| 82.0
M2 |#5:T =<# 60 58/ 118| 36.0| 82.0
3L IRE FR 42 51 93| 10.8| 82.2
NAML B8 EF 58 47 105| 22.8| 82.2
N5 |f EXF 52 47 99| 16.8| 82.2
166 | 8 56 55 111| 28.8| 82.2
Nl &8 BB 47 52 99| 16.8| 82.2
AEIREI I 58 53 111| 28.8| 82.2
194 8B 1IEx 50 61 111| 28.8| 82.2
12065 KA 55 56| 111| 28.8] 82.2
2161 |8 =F 61 b5 116 33.6| 82.4
12261 |BRIR 54 56/ 110| 27.6| 82.4
123G | FAR  fm— 51 53| 104| 21.6| 82.4
12461 T —R 52 52| 104 21.6| 82.4
12561 e B 56 54/ 110| 27.6| 82.4|FRE
1266 &l EEFET 48 50 98| 15.6| 82.4
216 | 8K FiEH 54 62| 116/ 33.6| 82.4
12841 |/MII BZ 57 52| 109| 26.4| 82.6
12961 5P F 54 55/ 109| 26.4| 82.6
1306z |k FAK 63 52| 115| 32.4| 82.6
13140 BER #h— 60 b4 114| 31.2| 82.8
1326 | AR ®FF 59 60 119 36.0/ 83.0
133 HERE EiZ 54 53| 107| 24.0| 83.0
13441 Tk FIEA 54 65/ 119 36.0/ 83.0
13541 ke FHRE b5 58| 113] 30.0| 83.0
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13661 =ik Bt 53 54 107| 24.0| 83.0
136 HE BEH 56 63| 119 36.0/ 83.0
1381 K B 57 62| 119 36.0/ 83.0
13961 #F  ERA 57 62| 119 36.0/ 83.0
14061 KR $#Hhth 63 56| 119 36.0| 83.0
1AL & BRYT 61 52/ 113| 30.0| 83.0
14260 LK —E 59 60/ 119 36.0/ 83.0
1836 HE 1EA 54 58 112 28.8| 83.2
TAAGL (B8R 1Bk 52 66/ 118 34.8| 83.2
1456 &K KB 52 66/ 118 34.8| 83.2
14661 | KIR ERPH 54 571 111] 27.6| 83.4
1416 AR EZ 49 62 111] 27.6| 83.4
14861 fERK BEih 62 55| 117 33.6| 83.4
1496 K& EF 58 58 116 32.4| 83.6
1506 FHiE B 50 53/ 103] 19.2| 83.8|xk=E
1514 HFT Ei 55 65| 120| 36.0/ 84.0
1524 Al IE{E 57 57/ 114 30.0| 84.0
15361 |H#BE EBX 58 62| 120| 36.0/ 84.0
15441 fER< K  #05h 59 61 120| 36.0/ 84.0
15541 |fEH —4& 63 57/ 120| 36.0| 84.0
15642 O FF 64 56| 120| 36.0| 84.0
1576 | KB 3 60 60 120| 36.0/ 84.0
15841 FHFHE HEY 57 62| 119 34.8| 84.2
1596 ZH i 58 55/ 113| 28.8| 84.2
16042 3EH HEF 54 58 112| 27.6| 84.4
16146 |FvA<E  F*E 51 67/ 118 33.6| 84.4
16261 |B%G  EHhE 46 66| 112| 27.6| 84.4
16360 M5 HTEH 47 52 99| 14.4) 84.6
164G =18 ZEF 60 57 117 32.4| 84.6
16561 /hNE B 58 591 117| 32.4| 84.6
1664 EiE EEF 54 57 111] 26.4| 84.6
167461 iR B 61 60 121 36.0/ 85.0
16861 | KE HH&E 61 60, 121) 36.0f 85.0
1694 FH Rk 56 59/ 115| 30.0f 85.0
7104 | #2%  BAF 57 64, 121 36.0f 85.0
1ML 2R #5 58 56| 114| 28.8| 85.2
1246 X FXB 48 60, 108| 22.8| 85.2
11361 RlJRE —M 60 60 120| 34.8| 85.2
TI1AGL |mr)ll %2 48 59| 107| 21.6| 85.4
17560 KTE EX 47 66| 113| 27.6| 85.4|FRE
77661 Fx BB 54 64, 118 32.4| 85.6
17746 |8k F0F 51 55/ 106| 20.4| 85.6
7186 | H¥F 8hiA 66 56/ 122| 36.0| 86.0
1790 |RE IEZE 58 64, 122| 36.0f 86.0
1804z | KH ZE 62 60 122 36.0/ 86.0
1816 F EE 60 62| 122 36.0/ 86.0
1824 HHEH IniE 52 70/ 122] 36.0/ 86.0
18361 [ #& HA 62 60 122 36.0/ 86.0
18440 A Hih 62 60 122 36.0/ 86.0
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HDCPERE: (B8) 36.0 (%) 36.0
B Lol
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7 DEEOEOES 1 DMHREBBHDE
fE:
JIE 15z B EA TiE TIh 14 |GROSS| HDGP | NET
18561 [ AXK JEF 60 61 121 34.8] 86.2
1864 A #— 54 61/ 115 28.8| 86.2
181 | Kix BB 57 58/ 115 28.8| 86.2
18841 EFF = 56 64/ 120| 33.6| 86.4
18961 | KIR FWH 49 63| 112| 25.2| 86.8
79061 3RO ZEA| 64 59| 123| 36.0| 87.0
191461 KiIE AR 61 62| 123| 36.0/ 87.0
19260 K FL 61 62| 123| 36.0/ 87.0
19361 | kRE ¥EF 66 571 123 36.0| 87.0
19441 ¥y IHEF 61 62| 123| 36.0/ 87.0
19561 | BEH # 55 61| 116 28.8| 87.2
1966 AKX BEZ 64 60 124 36.0/ 88.0
19761 B8 18 63 62| 125/ 36.0/ 89.0
19861 3RE  EE 65 60 125/ 36.0/ 89.0
1994 |H)II FO3k 59 66/ 125/ 36.0/ 89.0
8004 M1t £ 57 68| 125 36.0/ 89.0F/kE
80141 &H R 64 60 124 34.8| 89.2
8024z |AJII =EL 57 65| 122| 32.4| 89.6
803 €% &K 65 62| 127| 36.0/ 91.0
8044 |EHE X7 57 70 127 36.0/ 91.0
8054 |[=A FHEA 61 66/ 127| 36.0/ 91.0
8061z E2H ET] 62 65| 127 36.0/ 91.0
8074r |[AXK B 65 63| 128 36.0/ 92.0
8084L |/hE EIE 63 65| 128| 36.0/ 92.0
8094z | K% BB 63 65| 128| 36.0/ 92.0
8104z |NHE #MF 56 65| 121| 28.8| 92.2
8114 |£F%& I 57 69 126 33.6/ 92.4
81241 |F%H 2F 56 73 129 36.0/ 93.0
813y HIX EZFEF 64 65| 129 36.0/ 93.0
81441 |mh#E 1R 67 62| 129 36.0/ 93.0
8154 HEHM EH 64 591 123| 28.8| 94.2
8164 |&Hh =T 61 66| 127| 32.4| 94.6
8174 |FER A% 61 69 130| 34.8| 95.2
8184 |l FHEF 67 65 132| 36.0f 96.0
81941 #MH MK 65 67, 132) 36.0/ 96.0
8204 RHET =% 62 710 133] 36.0f 97.0
82141 | KB FHE 62 72| 134) 36.0f 98.0
8224 |1EEE E1T 64 710 135 36.0/ 99.0
82361 /M EX 60 76/ 136/ 36.0/100.0
82441 | KB FER 65 71| 136/ 36.0/100.0
825 |HLEt FE 68 69, 137/ 36.0/101.0
8261 |H.E f‘f?ﬁ‘ 66 71 137) 36.0/101.0
82741 Byt fH— 12 67/ 139/ 36.0/103.0
828fI HREH B 12 70, 142 36.0/106.0
82941 =AM =H 65 80| 145 36.0/109.0
8304 |XEr [ERI 69 71/ 146| 36.0/110.0
8314 Rl =& 84 63| 147 36.0/111.0
83261 |F #ME 6/ 80| 147 36.0{111.0
8334 |{fkik EE 78 71 155 36.0/119.0|BB
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